Apply — Remember!

Circle the numbers

What calculation do you need to do?
Draw your working out

Ben had 12 sweets and John
had 17 sweets. How many
sweets did they )
altogether?

On Monday, Mrs Lilly had 12
apples, on Tuesday she had
13 apples and on Wednesday

she had 14 apples. I’ i y

If Miss Welsh had 31 bananas
and Mrs Gunn had 19 more.
How many bananas did Mrs
Gunn have?

apples did Mrs Lilly
altogether?

There were 17 cars in the car
park. 22 more joined. How
many cars were there now in
the car park?

60 children wore white hats,
15 children wore red hats and
11 children wore blue hats.
How many hats were there
altogether?

There were 86 cakes on the
table. Mr Dale added 14
more. How many cakes were
now on the tabldP&s =™




